H & 0l & AHS B Ml A

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o HimEE]
s2II=% JI=ihg= 7,388,409 7,039,568 348,841
= 631,021 631,021 0

= 6,757,388 6,408,547 348,841

2 s80|= g & E= 7,195,192 6,865,192 330,000
= 631,021 631,021 0

& 6,564,171 6,234,171 330,000

ASEAIE OFHMAD|E JHY 1,608,974 1,588,974 20,000
= 64,521 64,521 0

= 1,544,453 1,624,453 20,000

AT AZE3) 93,100 73,100 20,000
303 Za= 20,000 0 20,000

01 Z&3 20,000 0 20,000
OXRSLEZS S5 L H2ELS 20,000 0 20,000
HUAHES MSE SHI Moo= i 4,080,198 4,070,198 10,000
= 566,500 566,500 0

= 3,513,698 3,503,698 10,000

SN s==48 HAC UERD 43t 10,000 0 10,000
308 AXIHMSO0I & 10,000 0 10,000

01 XN BAELS 10,000 0 10,000

O =a=sAZNHAE0E0 WIERT a4s X 10,000 0 10,000
TEd se)l= g 1,506,020 1,206,020 300,000
=TE EFOIME NS A0 300,000 0 300,000
101 eI t| 17,228 0 17,228

M IItHZ2E2SEs 17,228 0 17,228
Obld=E dEd 5 2d2el 17,228 0 17,228

202 Ot 3,000 0 3,000

01 =WO4 bl 3,000 0 3,000
OERDIMS MEAR =X 3,000 0 3,000

207 A2 IHEH| 29,772 0 29,772

03 Al&l 2| 29,772 0 29,772
OEXDIME ANEHT M= 29,772 0 29,772

307 QI2H0| M 250,000 0 250,000

02 QIR &A= 250,000 0 250,000
OEXDME S+ N& 250,000 0 250,000
HRES (I JI2He=) 18,841 0 18,841
BAXNE (=2 JIsHE=) 18,841 0 18,841
=218X3 Btat=a 18,841 0 18,841
802 gtet=JIE 18,841 0 18,841

01 I NEXILEZ 18,841 0 18,841
OJIslg=0F FnEXZ gtagd 18,841 0 18,841




